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Bridge

      A Problem of Logistics
  Solving an entry problem is often the

critical factor in the play of a hand.
Consider this case where the defense

starts off with two rounds of diamonds.
South ruffs and would like to take two

heart finesses, as well as lead a club toward
his king. Since he has only two entries to
dummy to attempt these three plays, South
has a problem of logistics to solve.

 The best way to resolve the problem is
to lead a trump to the king at trick three and
return a low heart, finessing the jack after
East follows low.

West takes the queen and can do no bet-
ter than return a diamond. South ruffs,
crosses to dummy with a trump and leads
the ten of hearts, finessing again after East
follows low.

This is declarer’s second lead from
dummy, and when the finesse succeeds, he
discontinues hearts and leads a club to the
king.

Since East, as expected, has the ace,
South accomplishes his mission; his only
losers prove to be a heart, a diamond and a
club.

 Note that if East covers the ten of hearts
with the king on the second round of the
suit, South is able to return to dummy with
a low heart to the nine to make the crucial
club lead toward the king.

Note also that if South starts playing the
hearts by leading the ten from dummy, in-
stead of the deuce, he later runs into a dead
end.

The next time he gets to dummy with a
trump, he can lead a heart or a club — but
he can’t do both. As a result, he finishes
down one.

   Tomorrow: Test your play.
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This is a logic-based
number placement puz-
zle. The goal is to enter
a number, 1-9, in each
cell in which each row,
column and 3x3 region
must contain only one
instance of each nu-
meral. The solution to
today’s Sudoku puzzle
is right.
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Difficulty Level 11/30
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Conceptis Sudoku by Dave Green

Difficulty Level 11/30
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